oW ok Ko Z B — ¥ W
HERESSER

MixE(—) =
—.1.72 06
2.18 180 1.8 0.18
3.< > > > < = ' L] L
4.0.16 | ik (=)
5.53 533 L =LV ox x
6.57 57 ; 2.1071.3711.2005 5450.42126.5550
7 44 44 : 1071 .42126 3711 5550
—1V 2x 3x 4V 5x : 42126.5550 5550 5550
=.1C 2B 3D 4B 5C : 3. JEE 2 3(BEEARE—)
m.1.5 009 6 04 16 6 0 0.03 ! 4.3
2.30.2 84 093 350 0.66 4.06 : 5.2 4
3.42.14 408.98 2554 3.57 5 6. (H% %k A%k
F.1. 90x(6.5:1.3)=450( %,) ; 7.6.12.24
2. (122.5+117.5)+96=2.5( ) : 8.0 0.6
3. 108:24=4.5(#%) 4.5+1.5=6(=k) 108+6=18(:%) . 9. T
4. (40.58-5.48):1.5=23.4(F %) L Zx 2V 3V 4x 5V
23.4+40.58=63.98( F %.) , =.1A 2C 3B 4C 5C 6A
5. (20-5)+2.5=6( ) i) 6+2=8(/ At) ¢+ .1 (1)1.2.3.4.6.8.12.24
BEH : (2)24.48.72 .96
(65.3-2.4x7)+5-2.4=7.3(F %) 5 (3)15.30.60
MixE(Z) ; 2. Wt
—Lx V ox V 3.2.3.5.7.11.13.17.19
2.(Dk 2 (2% 6 (34 5 453 3 2 29 2
x x V. V V ' 5.(1)9753 (2)1359 (3)9735
=1V 2V 3x 4x 5V o HL /N 114+3=38(F ) /)E38-2=36(F &)
=.1D 2B 3A 4B 5C 6A i /IN3ik - 38+2=40(F 52.)
M. 1~3. W : 2. B TS, AR AT LK
4 GE QA TR 5 4%, TN TR 2 6 45D 1 348 A
FAERS 11 88, (5% Rvk—) ! 4. [} 13.4 J6=1340 43,3 A& Hic A A9 B4 v 2 3
5. W : FIAEEL, H 1340 FF A& 3 MIREEL, Fr LB A% B4
H 25 g oy g =R SRS
' 5. 24=1x24=2x12=3x8=4x6 42=1x42=2x21=3x
14=6x7, Al WA /N 6 K

HEREF Fl1m(¥2m)



148 BRIZIE M ABE AR IO, 1 0 2LV 2V 3x 4x 5V
(L)FENEN & 3 MRS E IR 24 M NBON 2 3 fs%k © =.1A 2B 3B 4C 5C 6A
£ 1. + J0.1.39 31 25 31 10 125 7 30
148=1x148 148=2x74 148=4x37 5 2.126 405 75 618 075 25
(D148=1x148=147+1=49x3+1, & A\ Kt 1 B4R, 7 © 3.51 612 3 9
(DPEA 147 ZF%, (—ANERTRAZXZ $A) N
(2148=4x37=4x(36+1)=4x(12x3+1), Frllg A+ 751 (DI R )IEMA(5)PERT LL, F(2)BE 1L
HIRE 4 B, (1) PE—3E4 36 42, 5 (4)BEART L, PO R LA BER AN RO FORL
it ) 2. (80-45.6)+2.5~13.76( % ), Fr LIS vl DAL 13
o

—.1.100 7280 #&%% 5 .
3. 196:8+5=4.9( &)

2. 0.1575 .

3.0.75 2.25 4. (1)175.5+6.5=27(A)

4,279 6.2 : EE%EFEZ)H%

51 3 : fixy 2

6.2 11 2 37 5 @
- ¥

7.13 :

8.5 7 4 7 F 6 :

9.1 2 4 : !
=1V 2V 3V 4x 5x 6V 5 (D)= ](9)+()

=.1C 2A 3B 4B 5B ; MiXE(75)
mM.1.01 089 07 20 3 009 20 25 + —1.9 10 9
2.52 81.125 120 19.63 5 2.3.8 0.038 500000 2 5
3.200 138 25 48 5 3K K% KxB Exm
e . 4h b a I(abh

7.1, 104.14+2.54=41( 3% ~F)

2. 147.4+(23+21)=3.35(F %.) >
3. 0.45x32:0.6=24( & ) °. %
4. 2610+(1-0.13)=3000( T.) ; 750
5. 263.2:2.8-263.2+3.5=18.8( F K /8}) : 5 %0
© Z1x 2x 3x 4V 5V 6V

B !

=.1B 2B 3C 4B 5A 6C
(495+180)+22.5=30( k) :

M3 2 495 16 1125 27

3l 3=k '
ik (H) © . 700cm?  37.5cm?  88cm?
—.1.237 6142142 1 .
N
y % ““\ é”é?;//: :
2- ?iﬁz s 0 AkEEER + 4.1 3x4:2=6(dm?)  6x1000=6000(dm?)=60m?
-7 ; 2. (3+1)x1+2=2(m?)
4.38.7 ; -
. 1748 3780 ; 3. (1)(40-1.5)x25=962.5( F 7 % )
T : (2)962.5x0.75=721.875(F %)
6.< > == <> : 4. 5+8-1=12(4%) (5+12)x8:2=68(4%)
' . -1= X8+2=
7. 27600 D msemr
8l 4 : s R
.. X 6x6+4x4=52(cm?)

9.045 0.455 : (6-4)x6+2+4x4+:2+6x(6+4)+2=44(cm?)
10.3 3 4 5 : 52-44=8(cm?)

HEREF Fl1m(¥2m)



